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This Question Paper consists of 31 questions [Section-A (21) + Section-B (5 + 5)] and 8 printed pages.
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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the answer-book or writing roll number anywhere other than the specified

places will lead to disqualification of the candidate.

Write your Question Paper Code No. 51/ASS/3, Set— on the answer-book.

5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
answer-book.

(b)  Ifyou choose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.
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BIOLOGY (Theory)

314)
Time : 3 Hours] [Maximum Marks : 80
Tl 3 AR [ri® : 80
Note : (i) This Question Paper consists of two Sections, viz., 'A' and 'B'.

(i) All questions from Section 'A' are to be attempted.

(ii1) Section 'B' has two options. Candidates are required to attempt questions from
one option only.

(iv) Maximum marks for each question are indicated against it.
MR : () WU T A AR T~ @ F qu @ q |
(i) @ ‘or & AWM U B TA HCNW T |
(i) wos ‘@ ® A faweq ¥ | qOAAl B bad ww Gwew & A WS F S
o E
(iv) A% WST % oMehaH o IO & A ¥ ™ T |

SECTION - A

oz — A

1 Name the bacteria that causes typhoid. 1
TG JFITTT &1 A gAEE, NEd wRe <Ehige AT IO Bdl &

2 Name the process by which fluid droplets are taken in through plasma membrane. 1

SE WRAT w1 AW Sa13Y, ek ERT G fAaw % Wer axa giewn
AR-IRX Al Sl & |

3 Who gave the term 'Vaccine' for the first time ? 1

JFM 9T H99 UEW fhad waiiva feam 7
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4  Name the micro-organism used for fermentation of grapes to wine. 1

SH el @1 W SRy e X ¥ feved g Uwhiedl U9 g9 % Al 9=
H T

5 Name two wild life reserves of India. Where are these situated ? 2

TRG & ®ls & g9 Sa- Add &5 & IW Saqid | ¥ wE Rug ¥ 7

6 Match the statements of Column-I with those of Column-II. 2
Column-I Column-11
(1) Polio Vitamin - B
(i) Water soluble vitamin Bacteria
(iii) Tuberculosis Scurvy
(iv) Vitamin C Virus
Hiew—1 &% Hal @ Hiew-1l & el § e |
HieE—1 i —11
(i) ifer faafim B
(i) @ o geasia faefte EECIREl
(iii) aufee whdl
(iv) fefm C GRS
7  Give reasons : 2

(a) Leaves of plants growing in dry regions have sunken stomata.

(b) In ficus, roots develop from tree branches hang downwards and penetrate the
ground.

HRO AN
(31) Togthg uEw ¥ (¥ €9 3T B ¥ ?
@) 9O’ T g@ B WS Y SO A AW WeH B qHT § g7 A ¥
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8 Name the following : 2
(1) Cells of root which absorb water and minerals from the ground.
(i) Type of stem found in ginger.
(ii1) Type of stem having cambium.
(iv) Loss of water from plants in the form of water vapours.
frafafaq & @ saEy ¢
(i) T @ T FO@U N SHA § Fa X @HeT-Taon &1 FG9iue Bl 5 |
(i) oX® ¥ UW 9™ a9 qT B TER |
(i) a7 ®H ¥ YR HTEH THT RN SRl ¥ |
(iv) o § S@ @ §af % BT H BN A0 Gl B g |

9 Why heart wood is economically more useful than sap wood ? 2

TEBSS Dl oMU siddrs ofitfs w0 ¥ i aifyes Suamy &t & 7

10 Draw an outline diagram of mitochondrion as seen under an electron 2
microscope and label its any four parts.

ARIRIEAT Bl ST GIa9l & 5 IR JG1 @ seda qEhiend § fas
A T | AR HBF AR WET AR BT |

11 (a) Name the hormones responsible for : 4
(1) Cell elongation

(i) Shedding of leaves
(b) What is a fruit ? What is its importance to the plant ?

(%) Ml &% T SAEY TR RO
() @B W TE Sedl B |
(i) Rl s &
(@) T FT B § ? WY & U 3Ee1 w1 e w7

12 Differentiate between the following : 4

(1) Mitosis and Meiosis (in relation to chromosome number and genetic make
up of daughter cells)

(i) Striated and non-striated muscles.
frffad o oMy @ @ifag -
() 0 fawem qen o fawew (dafd A ToREl @ " el S
X %6 Hew H)
(i) YRga usht Far snRaa uelr |
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13 (a) What are multiple alleles ? Give one example. 4
(b) How is sex determined in human beings ?
(o) TgUE T BT § 7 B3 UH SAR QT |
@ wmaEr # far-aer w5 e T 7

14 (a) What is oxidative phosphorylation ? Where does this occur in mitochondria? 4

(b) How many ATP molecules are produced from NADH, and FADH, which
enter the respiratory chain ?

(1) offedipd WIERINWIT &1 Bl § ¢ 9% AIZIwivgdal § ®al sl & 7

(§) NADH, @&1 FADH, % &Y, S 9989 S@ell ¥ §a91 & &, fha ATP
& el ® el g ¥ 7

15 (a) What is translation ? List its various steps. 4
(b) What causes Mangolism ? Give its two main characteristics.
(31) ZTEWY™ FT BAr § 7 39 AMH OO §AREY |
@) wMfaeH & R BROT T ? 3HF A YT &9 qART |

16 (a) How many pairs of salivary glands are present in human ? 4
List three functions of their secretion.

(b) Name two enzymes secreted by stomach. What is the role of HCI in stomach?
(31) el o fepae ST @RI URY S R ? 3% &1 unad W % O
H TOEY |

(@) Y ¥ oifad 89 O 3 UNEH GiF-d ¢ 7 TR o ST
¥ T B Xl &7

17 (a) Define Homeostasis. Explain it by using an example in man. 4

(b) How do honey bees cope unfavourable temperature conditions ?
(31) GHET @ gAY | AgS HOSHeT SATeXU e gHeRy |
@) wAgAfrEal widga qaoAE giRafaal @ 9 &9 e § 7

314/51/ASS8/3 A] S AR RRTO AN AN~ [ Contd...



18 (a) What are the two types of immunity ? How do phagocytic cells keep 6
us healthy ?

(b) What are the components of a nucleotide ? Which four nitrogen basis are
found in a DNA nucleotide ?

(31) whem & « TR IABY | FEHY] HIHN T W Y@ H hH HEHw
g 7

@) TH YaolEs & uHl & AW SaEy | SLUA.U. & leareEs) o
BB AR 99 Bd § 7

19 (a) What kind of temperature, light and soil conditions prevail in a 6
tropical rain forests ? Comment on vegetation of these forests.

(b) Why should we conserve natural resources ? In which three ways we can
conserve and manage water resources ?

(1) Swmmlesdm aul o=t § FHH qUHE, WEIT X AT A ¥ 7 I a9 @
grafq X feuelt fafew |

@) T Uiplaw GHIEAl B XU T BN AT 7 TW W@ SR YT wl
w3 o faftet Tase |

20 (a) What is cataract ? How can sight of a person with cataract be corrected ? 6

(b) Give any four points regarding nature and functions of hormones.
Give example of a hormone.

(31) wifqare= @ & 7 Afgaie<s ¥ difsq @km @l ghe &8 b &l
SUECET S

@) FEA W yHl X wEl & fqwa ¥ IR AR a5 sOEy | sEH @
TH  SER QINT |

21 (a) What will be the progeny of a haemophilic carrier female and a normal 6
male ? Explain by a line diagram.

(b) How do non-biodegradable pesticides affect a food chain ? Name this process.
(3) wH DHIMbide de® & 9 9 geY @ daid wdl erl 7
T W@ ANE ERT gHEEY

@) FSAACTIGE DHIEAE WE SEA B HY UHIIT BT & 7
39 UhAT d T HEd & 7
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SECTION - B

e — 9
OPTION - 1
T — 1

(Tools and Techniques in Biology)
(rafemmr & o9 T )

22 Which type of lens is used in a dissecting microscope ? 1

TEATFRT ARG H Al Wg W edr & 7

23  What is the purpose of thermostat in an incubator ? . 1

T TS W iR ;@A g

24  What is double staining ? Give an example . 2

e Ao fafy w&m & 7 39T TH SIEIO AT |

25 (a) How will you grow onion root tips in a lab ? 4

(b) How will you prepare onion root-tips slide to study stages of mitosis ?
(31) waAFTeTEn W e @ el % W W ghg HH wLT 7

@ o foaew @ G srawemett @ seEE e % T e @ S %
Mot § wWEe &y qqmEy 7

26 (a) Why aquatic plants are grown in an aquarium ? 4

(b) Name two aquatic plants grown in aquariums.
(o) THElEd ¥ o oY @& ST S| 8 7
@) UgRlEy ® IMT 9 9@ A 9 F AW FqRT |
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OPTION - II
(Cer | |

(Economic Biology)

(snfer rafesm)
22 Name two oilseed crops. 1
fo@el wael % A W FABEY |
23 What is a cash crop ? Give one example. 1

qHhS] O HT & ¢ Th SEELU AN |

24 Match statements of Column-I with those of Column-IL 2
Column-I Column-11
(1) Silk Fish
(i)  Drones Agaricus
(iii)  Mushroom Unfertilized egg
(iv)  Vitamin A and D Mulberry
Fem—1 & "a&l @ wew-l & 7& ¥ HA |
HieE—1 i —11
(i) ™ B
(i) Ty
(iii) AR CIERICCEGLS
(iv) TRmE Awd D TEd
25 (a) What is crop rotation ? Give its importance. 4

(b) What are the advantages of artificial insemination ?
(37) TEEdT R OB § 7 3HH HEd SRy |
@) FE IO F T AN & 7

26 (a) Give any four advantages of forests. 4
(b) Write a short note on bonsai.

(3 T & B AR W9 FABET |
(@) wfEgE X feool fwfag |
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